
FLAT OLYMPIC BENCH

DH026



2



3

ITEM NO. DESCRIPTION QTY

1 Le  Upright Frame 1

2 Right Upright Frame 1

3 Cross Brace 1

4 Back Frame 1

5 Weight Plate Holders 4

6 Rear Cross Brace 1

7 Rear Support Frame 1

8 Inner plate 4

9 pedal plate 1

10 Back Pad 1

11 Rack Cover 4

12 Cover 2

13 Rack bumper 4

14 Rubber pedal plate 1

15 Rubber Foot 4

16 Rubber Foot 4

17 Bumper 4

18 Plug φ48 4

19 Plug □50.8 2

20 Plug□50*100*2.5 1

21 Hex Bolt M10*30 4

22 Hex Bolt M10*80 2

23 Hex Bolt M12*85 2

24 Hex Bolt M12*130 8

26 Flat Washer  φ20*φ11*2 21

27 Flat Washer  φ13*φ24*2.5 28

28 Nylon Lock Nut M10 5

29 Nylon Lock Nut M12 14

30 Flat head hexagon riveted nuts M10*19.5 10

31 Bo on Head Cap Screw M10*30 10

32 Flathead Cap Screw M10*70 3

33 Plug 口60*120 2

34 Hex Bolt M12*160 4



4

18
17

24
27

5

3126

33
1

8
27
29

8
27
29

15
34

27

1311

13

12 11

3
27

29
19

14

9

22
26

7

26 28

33

5
27

24
17

18

2

31
26

30

34
27

15

29
27
8

28
26

27
2928

26

6

10

20

23
27

26 21

21
26

4

16

32
16

30

30



5

STEP 1
34
26

27

28

29

2

4

4

12

23

22

6

7

1

1

2

2

6

3

4 1

2

1

1

1

1

ITEM NO.                      DESCRIPTION                        QTY

3427

2
22

26

7

28

26

6

27
29

27 29

23
27

4

34
27

1

3

Le  Upright Frame

Right Upright Frame

Cross Brace

Back Frame

Rear Cross Brace

Rear Support Frame

Hex Bolt M10*80

Hex Bolt M12*85

Hex Bolt M12*160

Flat Washer  φ20*φ11*2

Flat Washer  φ13*φ24*2.5

Nylon Lock Nut M10

Nylon Lock Nut M12



6

STEP 2

14

21

24

26

27
28

29

32

10

1

4

4

7

8

3

4

3

8

9 1

1

5

2

2

1

1

ITEM NO.                      DESCRIPTION                        QTY

5 27 24

2

29 27 8

14329

28
26

21

26

10

Flathead Cap Screw M10*70

Nylon Lock Nut M12

Nylon Lock Nut M10

Flat Washer  φ13*φ24*2.5

Flat Washer  φ20*φ11*2

Hex Bolt M12*130

Hex Bolt M10*30

Rubber pedal plate

Back Pad

pedal plate

Inner plate

Weight Plate Holders

Right Upright Frame


	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16
	页面 17
	页面 18
	页面 19
	页面 20
	页面 21
	页面 22
	页面 23



